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Bt 87 47 8 305 g | PERE | R
F(Z) S-F-01 30 248 g 1+ 620 ~
S1 H() S-H-01 30 448 |- 12830 &
B AR AR V(=) S-V-01 30 & 48 |= i+ 1,040 &
o) S-0-01 30 A4 |m 1,250 &
F(T) S-F-03 3024 |§ @670 ~
S2 H(i#) S-H-03 30 448 |- %930 =
MEEMmEF| V() S-V-03 30 448 |= i 1,190 ~
O( ) S-0-03 30 48 |z i 1,450 ~
F(ZX) S-F-08 30 245 g = 780 ~
S3 H(H#) S-H-08 30448 |- 1,150 =
PEHEF | V(o) S-V-08 30 448 |= 1,520 ~
o( i) S-0-08 30 4 |z it 1,890 &
By - B F(T) S-F-21 30 248 |y = 700 =
S4 H(#) S-H-21 30 448 |- ¢ 990 ~
GRE V() S-V-21 30 448 |= i+ 1,280 =
o( ) S-0-21 30 48 |w i+ 1,570 ~
T1 VE(£3%) | T-VF-01 120 ~ 48 |4 i 910 =~
P 75? HF(-k ) | T-HF-01 120 » 48 |- i+ 1,410 ~
VH(45") | T-VH-01 120 >4 [= 1,910 =
™ VF(£3) | T-VF-03 120 ~ 48 |4 2 910 ~
PYTET HF(-k ) | T-HF-03 120 ~ 48 |- ©* 1,410 ~
VH(45%) | T-VH-03 120 ~ 48 |= #* 1,910 ~
A 3 VF(#£7) | T-VF-08 120 2~ 45 |8 2 970 ~
3 4 4w HF(-k L) | T-HF-08 120 2 48 |- i+ 1,530 =~
VH(45") | T-VH-08 120 ~ 48 |= % 2,090 =
T4 VF(s-%) | T-VF-21 120 = 48 |4 2 970 ~
bR E HF(-k*) | T-HF-21 120 ~ 48 |- ©* 1,530 =~
VH(45%) | T-VH-21 120 248 |= 2,090 ~
C1 VF(#-%) | C-VF-01 180 ~ 48 |4 i 1,320 ~
B HF(-k ) | C-HF-01 180 » 48 |- i+ 2,030 ~
VH(45") | C-VH-01 180 45 [= 2,740 =~
> VF(£3) | C-VF-03 180 » %8 g 2 1320 =
& b HF(-k ) | C-HF-03 180 ~ 4 |- 22,030 ~
(R HrpAED) VH(45%) | C-VH-03 180 ~ 48 |= i 2,740 =~
1Emp &2t 3 VF(s%) | C-VF-08 180 ~ 45 ¢ 2 1,380 =~
T T HF(-k ) | C-HF-08 180 ~ 4 |- 2,150 ~
VH(45%) | C-VH-08 180 ~ 4 |= 2920 =~
DI VF(Z3) | D-VF-01 240 ~ 48 |§ 1% 1,920 ~
"t « | HFCk) | D-HF-01 240 & 48 |- i 3,230 ~
S VH(45°) | D-VH-01 240 A4 |= 4,540 =
D2 VE(£3) | D-VF-03 240 ~ &8 |§ 12 1,920 ~
KL BB HF(-k ) | D-HF-03 240 ~ 48 |- i 3230 ~
_ VH(45%) | D-VH-03 240 A48 |= % 4,540 &
D3 VF(s#-%) | D-VF-08 240 &~ 48 |8 % 1,980 ~
* 44 5 HFCk>) | D-HF-08 240 &8 |- 'i 3,350 ~
VH(45%) | D-VH-08 240 A4 |= #4720 ~
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